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1. Find the principal value of 

Watch Video Solution

sin− 1( ).
1

√2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rnsa8xsqcNyf


2. Find the principal value of .

Watch Video Solution

cos − 1( )
√3

2

3. Find the principal value of 

Watch Video Solution

cos − 1( − )
1

2

4. Find the principal value of 

Watch Video Solution

tan− 1( − √3).

https://dl.doubtnut.com/l/_1WbXAT4oBWFW
https://dl.doubtnut.com/l/_PxWl5CrQkl2h
https://dl.doubtnut.com/l/_ziBCJRtoYg1X


5. 

Watch Video Solution

cos − 1(cos(13 ))
π

6

6. Show that

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( )
2

11
7
24

1

2

7. Show that .

Watch Video Solution

tan− 1( ) + tan− 1( ) =
1

2

1

3

π

4

https://dl.doubtnut.com/l/_fcxTSZgErPww
https://dl.doubtnut.com/l/_Q7rgwW66TYAI
https://dl.doubtnut.com/l/_DkEtkbrSZLxu
https://dl.doubtnut.com/l/_EJlrLJUceGcc


8. Show that

Watch Video Solution

2 tan− 1( ) + tan− 1( ) = tan− 1( )
1

2

1

7

31

17

9. Prove that

Watch Video Solution

tan− 1
x + = tan− 1( ), |x| <

tan− 1(2x)

1 − x2

3x − x3

1 − 3x2

1

√3

10. Prove that 

Watch Video Solution

3 tan− 1
x = tan− 1( )

3x − x
3

1 − 3x2

https://dl.doubtnut.com/l/_EJlrLJUceGcc
https://dl.doubtnut.com/l/_PZ9bfGc00rjy
https://dl.doubtnut.com/l/_8M2rX26yA6vn


11. Prove that

Watch Video Solution

sin− 1
x = cos − 1 √1 − x

2

12. Prove that

Watch Video Solution

sin− 1(3x − 4x
3) = 3 sin− 1

x, x ∈ [ , 1]
1

2

13. If , prove that

.

Watch Video Solution

tan− 1
x + tan− 1

y + tan− 1
z = π

x + y + z = xyz

https://dl.doubtnut.com/l/_BrujjnKg4cbG
https://dl.doubtnut.com/l/_h5S1GrpLS7Ci
https://dl.doubtnut.com/l/_N6hlVlYwsto1


14. Find the principal values of 

Watch Video Solution

sin− 1( − )
1

2

15. Find the principal values of 

View Text Solution

cos − 1( − )
1

√2

16. 

Watch Video Solution

tan− 1( − 1)

https://dl.doubtnut.com/l/_xlf3PrT2bHog
https://dl.doubtnut.com/l/_vg7nMPFNiC7z
https://dl.doubtnut.com/l/_IY3JUMdKy5Mx


17. Find the principal value of 

Watch Video Solution

cos ec
− 1( − 2)

18. Find the principal value of 

Watch Video Solution

sec− 1( )
2

√3

19. Find the principal value of 

Watch Video Solution

cot − 1( − √3)

https://dl.doubtnut.com/l/_tvFU15W80TwA
https://dl.doubtnut.com/l/_EidJ0Xh8QZVO
https://dl.doubtnut.com/l/_HRMUbTxG82Y1


20. Find the principal values of 

Watch Video Solution

cos ec
− 1( − √2)

21. Find the principal value of .

Watch Video Solution

cot − 1( )
−1

√3

22. The vlaue of  is

Watch Video Solution

tan− 1( ) + tan− 1( )
1

2

1

3

https://dl.doubtnut.com/l/_uxvcsEvTmnhS
https://dl.doubtnut.com/l/_lBrD1EzMCccw
https://dl.doubtnut.com/l/_1ycj4uwrMolD


23. Prove that: 

Watch Video Solution

+ =
tan− 1 2

11

tan− 1 7

24

tan− 1 1

2

24. Prove that 

Watch Video Solution

tan− 1. + tan− 1. = tan− 1.
1

7

1

13

2

9

25. Prove that 

Watch Video Solution

tan− 1. + tan− 1. + tan− 1. =
1

2

1

5

1

8

π

4

https://dl.doubtnut.com/l/_kkKS1jAPmnMJ
https://dl.doubtnut.com/l/_BXlejoYJWAjo
https://dl.doubtnut.com/l/_UQuSEG4lWih4


26. Prove that

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( )
1

8

1

5

1

3

27. Prove that : 2 sin^(-1), 3/5 = tan^(-1), 24/7`

Watch Video Solution

28. Prove that 

Watch Video Solution

tan− 1
x = sec− 1 √1 + x

2

https://dl.doubtnut.com/l/_E4J5iQLcVANA
https://dl.doubtnut.com/l/_j8e1GMwQkUE2
https://dl.doubtnut.com/l/_vXSIDR7PDoVR
https://dl.doubtnut.com/l/_CY7c00vHir2F


29. Prove that

Watch Video Solution

cos − 1(3x − 4x
3) = 3 cos − 1

x, x ∈ [ , 1]
1

2

30. prove that

Watch Video Solution

tan− 1(√x) = cos − 1( ), x ∈ [0, 1]
1

2

1 − x

1 + x

31. 

Watch Video Solution

cot − 1( ) = , x ∈ (0, )
√1 + sin x + √1 − sin x

√1 + sin x − √1 − sin x

x

2

π

4

https://dl.doubtnut.com/l/_CY7c00vHir2F
https://dl.doubtnut.com/l/_ZT4l21g7ZAva
https://dl.doubtnut.com/l/_BVYoG39Mv5aZ


https://dl.doubtnut.com/l/_BVYoG39Mv5aZ

